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[A] #& /- & #%(Sequential) [B] i ## & #(Selective) [C] 1@ B 4 #(Repeat) [D] Bk 4%
(Jump)

2. 3 (023 )+ (0111 ),=(01A )16 * 3% F x % ? [A]2 [B]8 [C] 10 [D] 16

3. #iE — 8% Web server F il % 944 3K ? [A] Type of Internet service provider [B] Web content
provider [C] Computer that stores and distributes Web pages on request [D] Software
program that searches for information on the web.

4. B T AR IPvA P ALhk A9 0 AR S 753 4% QoS(Quality of Service)% Fi#2 » IPV6 £ A % V4t
B TRty ? [A] 32 [B] 64 [C] 128 [D] 256 -

55820 % VAMA > AT UAE XN EFE L L 44 $2 (How many bits to constitute over 60
thousands combinations? ) [A]8 [B]15 [C]l6 ([D]18 -

6. T —18FR & DBA 69425 7 [A] 3% € B R &ML 2 R 44 B % (tables relationship

[B] &t & 42 A AL AR BE 42 @ 49 22 4% (data storage architecture design)

[D] B A4 Bk 4% (maintain data

management)
[C] #73% 152 MR &4} (insert/update/delete data)
periodically) °

7. J&F A — 38 6,415 #4018 8 (certificate) 8 B 7 [A] BB BRSO HMMmEE [B] BES
BRI [C] 3834 8 A48 (public key) [D] BAE % &

8. TR CEETh&  #HFBBECHMITHER 1 A4THE 7 [A]4, [B]S5, [C]6, [D]8 °
intx=1;
inti=1;
while(x <= 1000)
{
x = 2%,
i=itl;
}
ABBBMIAEINE 20EE > LHRRARYHEES 0 AT CEHF  BRR/MAAAHE
FEBREHRFTAEG REFEARLEE? [A]130:%, [B]31 %, [C]32k, [D]33%k
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10. eop o) —ARF > EREASBRATSHGME  HELEXS 8 RIEM Y EBMBHE
[A] A& fFE [B] suabEif [Cl AL EE DI AL -

1. FHF—EEFEBkA T4kl ) (Lastin Firstout)#EA 2 [A] 5], [B] 45771,
[C] #4&, [D]&AKRIFSH -

12. (TAB)1s %% : [A] (13223)16 [B] (1962)10 [C] (11110111100, [D] (3653)s ©

B BB FEAAERIALA I00M > FHEREE;ERFTUTRS D EH?
[A] 600MBytes [B] 750MBytes [C] 960MBytes [D] 1200MBytes

14. F 59 — 25 B 7 4% 2218 88 (Virtual Memory) #9483 & #1652 [A] % 2888 &85 » 4 A
— 2 # ROM & 5 RAM #934% [B] ¥ X2 BBS R (5A — 30 Wmuk 2 M E A
RAM #93ef¥ [C] & EREREHEN > WEHAKA WL RS MEEER D] &
SWAP &M #ef  EAEHREMNEZRER T -

15. #sheeief(a) ~ EBHREOG) CHBC)  RLBROHHERRE » FREBRBEZEH
A %7 [A] abed [B] beda [C] cdba [D] deba -

= M (55%)
1. (20%, 5% for each) 4% % FR#%:

(A) it@ & # (recursive procedure )

(B) B .o (Certificate Authority )
(C) B4z 2 #1538 (Von Neumann Bottleneck )
(D) =74 (Binary tree)

2. (5%) T B & & K# 3| (Fibonacci)& FR)F AT MBI B RLEN » FH B & KEF FUO)B £ 44
ey kREHBS V2
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3. (5%) #4714 A = 7L #sH(Binary Tree)%:#4 77 1000 % ¢24k(Records) » A B R L 9HFAT » &KMAF

B5 DV RIEBRBNBRIITEHEN?

4. (5%) 43 TCP/IP @ 3Rty K 49 2R @ & » FE LK T SEM S H B2 TCP/IP i € ey —

R&? e
(A). WiFi AP,
(B). IP Address,
(C). Router,
(D). Port Number,
(E). TELNET

5. FF H T 5 Javag L e HATE R,

A. (5%)
public static void main(String[] args)
{
int i;
int total = 0;
for(i=1;i<=12;i++)

if ((i % 2) = 0) continue;
total +=1i;
}
System.out.printIn(" &.a:  + total);

}

B. (5%)
public static void main(String[] args)
{
int count = 0; // 3+ B =k #t
float len = 150.0f;
do {
count++;
len /=2.0;
} while (len >20.0);
System.out.println("#{ 4 <k #: " + count);
System.out.printIn(" % # & f&: " + len);

6. (10%) #% 7| K /& F = 7UHt &) pre-order, in-order, and post-order Mg A ?
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